2,4 6 15605  17,CV1 B8CTY, 711 9 % 2 13 66 26
Crvss 16,CT3,CT4 10 19 24,20,3 21 12 CV2 CT5,2322,CY4,25 CT6 ALBA - 131L
124 3 5 5 6
R vRI 20 2128287 5 30
L ji2 3,63,6b,7,8,9,4 5,12 T
Telescopic
aerial C6 b1
EL R50
R3 ci17
—
— . .
_Lceo
TP
2
/
oy
29,27,31, 32 62 34 46
L1 28 30 35 36 33
32 12,52 1 14 49
31 10 VR2 3
13 12,76
gmz
(e <
TP1
P
I\
c19 %
S {rtzrnﬂ!-::sdf - /57 M
aerial
_./r‘%_(‘\_f Ve L N
- oo d 1
5 m d
c18 7
ES S c24
1 i b L
52 i 56 T o
i

Tl

—

P St
CV3 ~ T
CT il ————
| A 4
4 Lo
R29%
L
4
R9 3
AN A
62 34 46 61 48 37 30 41,44 59 49 50 53 55 6756 64 a
35 36 33 38 39 47 42,43 45 51 52 58 54 SS
14 49 16 19 24 VR3, 51,34 35 36 39 40 43 41,44 47 R
3 15 7 18 20 21 22 23 33 37 38 42 48,45 46
T9 1,14 L
/Volume
ANV >
/35 l R36 L iy
| ODING R -
SWITCH CODING g 5 K 2 T 3ir RES
Vv =closed on V.H.F/EM. 4 35 399 %
59 50 5
1 =closedon L. W.
m= closed on M.W.
Earphone

TR7

socket
7




Component values and locations

Resistors R32 15kQ  B1 gg 3pF A1 C60 O-SZuE
. . R33 47kQ A2 5pF A1 Cé1 0-04p
Transistor analysis R1 220Q@ A1 R34 10k@ A2 €10 500pF A1  C62 0-04uF
R2 2:2k@ A1 R35 kQ A2 C11 25pF A1 C64 0-04uF
Transistor voltages quoted in the table Ez 5:;2::3 2} ggg 2 gsmﬂ ﬁ% g}% 1,0§)ng 21 ggg 0.(1)%“E
. . P P
overleaf were obtained from data R5 182 A1 R38 10k A2 Ci4 40pF B1  C67 200uF
supplied by the manufacturers. They R6 2.2kQ A1l R39 3.0k0 A2 CI15 5pF B1 CcT1 —
were measured under quiescent R; 5.1k A1l R40 390Q A2 C16 _ 20pF B1 CT2 —
conditions with a model 8 Avometer and R 2:2k@ B2 R4l 6@ A2 €17 | 10pF B1  CI3 —
are all itive with respect to batter R9 82kn Bl R42 ke A2 C18 001uf Bl CTa _
| pos ! p Y R10 10k2 B1  R43 68Q A1 C18  5000pF B1 CT6 —
negative. R11 680Q B1 R44 1kQ A1l C20 0-01uF A1l CT6 —_
R12 160Q B1 R45 68Q A1 C21 0-01uF B1 cvi —
R13 5:6kQ B2  R46 220 B2  C22 85pF A1 cv2 —
R14 1kQ B2  R47 220 A1 €23 165pF B1 cv3 —
R15 2200 B2  R48 56k A2  C24  3,000pF A1 cva —
R16 270Q@ B2  R49 3-9%kQ B2 €25 10pF Al ooie and
R17 560Q B2 R50 100Q A1l C26 270pF A1 transformers
R18 1.5kQ B2  R51 1:5kQ A2  C27 10uF B1
R19 1kQ B2  R52 330k B1 C28  1,000pF B1 L1 —
R20 1kQ B2  VRI1 100k A1 €29 10pF  B1 L2 —
R21 10k B2  VR2 100kQ B2 €30 4pF  B1 L3 —
R22 1kQ B2  VR3 10k A2 €31 0-02uF B1 L4 —
R23 100k B2 C32 0:04uF B1 L5 —
R24 100kQ B2 Capacitors C33 12pF B2 L6 a/b —
R25 3:3kQ B2 C34 4pF B2 L7 —
R26 15kQ  B1 c2 0-01pF A1 C35 0:02uF B2 L8 -
R27 4-7kQ  B1 Cc3 0-02uF A1l C36 0-02uF B1 L9 —
R28 3-3kQ  B1 c4 80pF A1 C37 25pF B2 L1 —
R29 15k B1 €5 1,000pF A1 €38 0-01uF B2  LI2 —
R30 1009 A1 c6 5uF Al C39 0-01pF B2  L13 —
R31 2:2kQ  B1 c7 10pF A1 C40 SuF B2 Li4 8Q
ca1 1,000pF B2 T1 —
ca2 1,000pF B2 T2 —
Transistor table gﬁ 5'00%‘;:2 g% Ii —
AM. E.0. C45 S5uF A2 TS -
Transistor Emittet Base Collector  Emitter Base Collector gig 0-02uF B2 19 -
) V) v (V) v) v) Goamr B2 —
c48 200uF B2 T8 —
TR1  2SA440 . 53 50 — 47 42 — C49 5uF A2 T9 —
TR2  2SA440 .52 52 — 37 34 — €50 30uF A1 miscellaneous
TR3  25A324 .42 4-0 004 33 30 013 csl SuF A2 s
TR4  25A321 . 50 47 006 45 41 012 C92 SowF A2 R istss
TRE  2SA321 . 46 4.1 017 4.0 36 0-24 C53 200uF A2 07
TR6  2SB185 . 32 26 0 3.0 2:4 0 c54 O0tuF B2
TR7  2SB185 .47 44 1-5 4.3 4-0 1-4 €55 00IuF B2 - 2.0 -
TR8  2SB186 . 41 39 0-3 41 3.9 0-3 €56 200uF B2 ) -
TR9 2SB22 . 598 5.8 2-9 598 58 2-9 €58 200pF A2 + Ferrite rod aerial
TR10 2SB22 . 288 2:7 0 2:88 2:7 0 C59 200pF A2 ..** Loudspeaker

B2
B1
B1
B1
A2

Circuit alignment

Equipment required. — An r.f. signal
generator covering the range 100kc/s-

2 Mc/s amplitude modulated 30 per cent
at 400c/s; an f.m. sweep generator

with the following ranges: 10-7Mc/s
deviated 300kc/s at 50c¢/s, 87Mc/s and
104Mc/s deviated 25kc/s at 1kc/s on
each range; an r.f. coupling coil; an

a.f. output meter to match 8Q

terminated with a miniature jack plug;

an oscilloscope (c.r.0.); a shunt diode
rectifier network made up with a 2,000pF
capacitor, an OA79 diode and a 33kQ2
resistor (see illustration col. 3), and

one each 0-01 uF and 0-1uF capacitors.

During a.m. alignment attenuate input
signal so that the receiver output does
not exceed 50mW thereby preventing

a.g.c. action masking alignment peaks.

Switch on test equipment and allow
approximately 15 minutes to warm up.
Pre-set volume control to maximum and
connect a.f. output meter via earphone
jack. All a.m. i.f. and r.f. signals are fed
in via the r.f. coupling coil which should
be loosely coupled to the ferrite rod
aerial assembly.

1. — Switch receiver to m.w. and tune
to 550m. Feed in a 470kc/s a.m. signal
and adjust T8, T7 and T6 for maximum
output. Repeat until no further
improvement can be obtained.

2. — With receiver still tuned to 550m,
feed in a 5645kc/s a.m. signal and adjust
L13 and L6a (by sliding coil former
along ferrite rod) for maximum output.

3. —Tune receiver to 200m and feed in
a 1,600kec/s a.m. signal. Adjust CT6
and CT3 for maximum output.

4. — Repeat operations 2 and 3 until
no further improvement can be obtained.

5. — Switch receiver l.w. and tune to
1,900m. Feed in a 158kc/s a.m. signal
and adjust L12 and L8 (by sliding coil
former along ferrite rod) for maximum
output.

6. — Tune receiver to 900m and feéd
in a 333kc/s a.m. signal. Adjust CT5
and CT4 for maximum output.

7. — Repeat operations 5 and 6 until
no further improvement can be
obtained. Disconnect a.m. signal
generator.

8. — Switch receiver to v.h.f./f.m. and
tune to a signal free position in the
waveband. Connect the f.m. sweep
generator via a 0-01 uF capacitor to
TP2 and chassis (TP1), and the c.r.o.
via the diode network to TP3 and
chassis. Detune T5.

9.~ Feed in a 10-7Mc/s signal deviatec
300kc/s at 50c/s. Adjust T4, T3, T2
and T1 for maximum amplitude,
symmetrical about 10-7Mc/s (see Fig.1
Attenuate input signal so that response
amplitude is just large enough to
produce a recognizable pattern,

10. — Disconnect and remove diode
network, then connect c.r.o. via a
0-1uF capacitor to TP5 and chassis.

11.— Feed in a 10:7Mc/s signal
300kc/s at 50c/s. Adjust T4 for a
symmetrical ‘S’ curve, and T5 to
centre 10-7Mc/s marker in the straight
portion of the curve (see Fig. 2).

12. - Repeat operations 9-11 for
optimum response. Disconnect c.r.o.

13. - Tune receiver to 87Mc/s pre-set
volume control to maximum and feed in
an 87Mc/s f.m. signal deviated 25kc/s
at 1kc/s. Adjust L5 and L3 for
maximum output.

14. —Tune receiver to 104Mc/s and
feed in a 104Mc/s f.m. signal deviated
25kc/s at 1kc/s. Adjust CT2 and CT1
for maximum output.

15. — Repeat operations 13 and 14 until
no further improvement can be obtained.
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Waveband switches, §1-815.

22 turns
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control
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Tension
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Orive drum
Fully ciockwise)

Sketch of the drive cord assembly.



